

$$\begin{array}{c} \circ \quad \circ \\ \circ \\ \square \end{array} + \begin{array}{c} \circ \quad \circ \\ \circ \quad \circ \\ \square \end{array} = \square$$

$$\begin{array}{c} \circ \\ \circ \\ \square \end{array} + \begin{array}{c} \circ \quad \circ \\ \circ \\ \square \end{array} = \square$$

$$\begin{array}{c} \circ \quad \circ \\ \circ \quad \circ \\ \square \end{array} + \begin{array}{c} \circ \quad \circ \\ \circ \quad \circ \\ \square \end{array} = \square$$

## POČÍTÁME DO DESETI

$2 + 4 =$

$10 - 2 =$

$4 - 0 =$

$4 + 5 =$

$3 + 2 =$

$10 - 5 =$

$3 - 2 =$

$5 + 5 =$

$4 + 6 =$

$10 - 9 =$

$8 - 6 =$

$8 + 1 =$

$8 + 1 =$

$10 - 3 =$

$5 - 2 =$

$9 + 0 =$

$6 + 3 =$

$10 - 4 =$

$6 - 3 =$

$3 + 7 =$

$5 + 2 =$

$10 - 6 =$

$4 + 5 =$

$9 - 6 =$

$3 + 6 =$

$10 - 5 =$

$6 + 2 =$

$9 - 4 =$

$4 + 2 =$

$10 - 0 =$

$4 + 3 =$

$8 - 7 =$

$5 + 4 =$

$10 - 1 =$

$2 + 8 =$

$7 - 4 =$

$2 + 7 =$

$10 - 8 =$

$9 + 0 =$

$4 - 4 =$

Vyřešte následující slovní úlohy a příklad dole na stránce::

1

$1+1=$

$2+1=$

$3-1=$

$1+2=$

$2-1=$

$3-2=$

$1+3=$

$2+2=$

$4-3=$

$3+1=$

$4-2=$

$4-1=$

$1+4=$

$5-3=$

$4+1=$

$5-2=$

$5-4=$

$2+3=$

$5-1=$

$3+2=$



2

$4-2=$

$2-1=$

$2+3=$

$1+2=$

$3+1=$

$1+4=$

$5-3=$

$2+1=$

$5-2=$

$4+1=$

$4-3=$

$5-4=$

$2+2=$

$3-2=$

$4-1=$

$3+2=$

$3-1=$

$1+1=$

$5-1=$

$1+3=$



3

$1+2=$

$3+1=$

$1+1=$

$3-2=$

$1+4=$

$5-3=$

$2+1=$

$5-2=$

$2+3=$

$2-1=$

$4+1=$

$4-2=$

$5-4=$

$4-3=$

$2+2=$

$5-1=$

$3-1=$

$1+3=$

$4-1=$

$3+2=$



7

$1+5=$

$6-3=$

$4+2=$

$6-5=$

$3+3=$

$6-4=$

$5+1=$

$6-1=$

$6-2=$

$2+4=$

$6-5=$

$3+3=$

$6-1=$

$2+4=$

$5+1=$

$6-3=$

$1+5=$

$6-2=$

$4+2=$

$6-4=$



8

$3+1=$

$3+3=$

$5-3=$

$6-1=$

$2+4=$

$1+2=$

$6-5=$

$5-4=$

$5+1=$

$2+1=$

$6-4=$

$4-3=$

$6-2=$

$2-1=$

$4-2=$

$3-2=$

$1+5=$

$4+1=$

$6-3=$

$5-2=$



9

$1+5=$

$5-2=$

$3+3=$

$3-1=$

$6-4=$

$1+3=$

$5+1=$

$3+2=$

$2+4=$

$5-1=$

$1+1=$

$6-3=$

$2+2=$

$6-1=$

$4-2=$

$6-5=$

$4-1=$

$4+2=$

$2+3=$

$6-2=$

